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ANSWER SHEET 
 
 
QUESTION 2.2.3 
 

WOOD NEEDED TO BUILD SHELVES 

Description Quantity Quantity to be purchased Total 

Uprights × 4 4 × 2 m @ R55,06 each R................................................. 

Upright supports × 4 2 × 1 m @ R27,53/m R55,06 

Top shelf × 1 5 × 1 m @ R27,53/m R137,65 

Other shelves × 3 .................... × 1 m @ R27,53/m R................................................. 

Shelf support × ............ 4 × 1 m @ R27,53/m R................................................. 

  TOTAL EXCL. VAT R................................................. 

  VAT @ 14% R................................................. 

  TOTAL INCL. VAT R................................................. 
 
(Circle the correct answer.) 
 
∴ Bongani's calculation is correct/incorrect.  


